ECHNICAL INFORMATION

V/7/7 1,440

52563

Subj ect » Change of Joint,Lever,Screw and addition of Hex.Sleeve

=0]8\Y[ele[S55)) B 4304T,4305T(JIG SAW)

P> Hex.Sleeve has been added to be inserted to be inserted into Joint to increase strength of

Joint.

Only for Model 4304T,Pan Head Screw M4x8 fixing Lever 51 has been changed to
Countersunk Head Screw M4x6. Accordingly the Lever 51 has been changed.

» Current > New
| [
_ ) l <Addition>
Change of Joint and Wy Uy, \ Hex.Sleeve
Addition of Hex.Sleeve \
Joint
Pan Head Screw Mj& Countersunk Head Screw M4x6
Change of Lever 51 and g
Screw (only for 4304T)
% -
<
Lever 51
I nter changeability(1/C)
Item No| Current part Q'ty| l/IC New part Q'ty] Note
S T R N S Jint___]
4158821 1| No| 4163515 1
% “HexSeeve ) Interchangeabl e as a set
1 3445370 |
3 |LeveSt 1| Nol-LeverSL 1 f
415881-3 416370-1 Interchangeable as a set
1 |PanHead Screw M4x8 1 | Nol-Countersunk Screw M4x6 | | for4304T

911109-2 912102-9 !

I mplementation

4304T : From September,96
4305T : From September,96




